BAYIEHERALZIEFETRIREA-THEIHER

LEBESSFRE 052, B3 1L —BEHREBMELEMR I 2o
2R ERBRK 2 20RELEBHES I T6)
— S5 PEIERH 160 245 B3 1L —BEL 64 F 5

2HEKRE 6 Fr(RREFENR S B 42)
= REER (WEELER) 4589 6 ' LABRZ I L5
LERRB IS B0 GRRAEEEHR S 39)

R
KALRBAERXEA > EROUATER  BEEX:
1~ BBERARFTRRE - RBBHBRAERBEHER > AN FRETERF oM "#ERET & R
£ (-85 £2y) BFReE BEEE- |
2~ ZAWBEAIRAF SR BATER o
3 ANEXARBEEFAEIBERE (E2y) RAGCERKBE (F25 ) AU PFRG/REB@) 0 &
BERFFHEE
B RRESI 8F 5 A WFRAHRRE
KAZERT  BEBOCREEIEE 229 CHERXRZRAX - AZFRXARESNEBEKEIEE425)  BH K&
REEIEE BEy  GEXLYRR(EIELTORY) ARRAGHBRZEIBE420) A eHER(ESE
¥ 625) BaR(ESBE2LH) -
XA T2 FELTHE - RLEREZARBE  URBOCAAHES > ARESEFTARIE SHRERIIANREL  IRELSMIHR
BEELS  RARGCHALEZ,BGF (BB LEAERE) RN ZESGNTIALRBEZLEETH -



IEHEMAS-FH TR T LLE L —RFRF B R IEWRR

¥—% %% H= ¥ w4 EnE BANHE FtF
. 7 Lo
#iz % R A |BE | ,
e & 22 7y am iE J'_ Tl1E|FlE]|TF]lE|TF|L|TF|x|F]E|F BE(ABEZEXLHE)
. % | & |2 | 2|2 | 2|22 |2 |22 |2 |2 |22
2R # #y #A H# #g #5 #i A H4 1 #7 # £9
x(—Px 12 |12 | s | 22|22 |2]2 Chinese(1)~(6)
32 (—)* 12 12 s 2 2 2 2 2 2 HEX(R)AREOOFFRGFE T RS R
: (=) ; English(1)~(6)
B 3 (—)(=) 4| 4 | 2 2 | 2 History(1)~(2)
’;; HIE(—)~(=) 4 4 ol 2 2 Geography(1)~(2)
1N
;_*_ TR (—)~=) 4 4 ol 2 2 Computer(1)~(2)
FaA I (—)~«(=) 4 4 e 2 2 Information Technology(1)~(2)
#E(—)(m) 0 8 s 2 2 2 2 Physical Training (1)~(6)
AEREF(—)(=) 0 4 | 2 2 104.02.174% £
PREFHEFT (—)~(w) 8 | 8 | x| 2] 2|22
# & IRF(—)~(m) 4 4 | s 1 1 1 1
HIXMFREME(IG 12|12 & | 2 2 2 2 2 2
y | AFEX(—)(=) 4 4 s 2 2
o k(=) 44| » 2 | 2
B\ x2g - sRE-)<(=) 4| 4| » 2 | 2
- g2 6 6 | =
| g |anreenss 4| 4| »
ﬁg_% >4
f_i X % 6 6 | x
B ] 2 2 | &
Hib | RFEHF 0 8 | = 0 0 0 0 |RELEMBBwEHAREPT




2 4R e

By 2 s @ MAL—EHTES L2284 022 078 2(—)
) & " & | B=% | $=2% | Fuws | F5E | Ex4E | Fes
RN NN R EE N N T
EH(—)~(+m) 44w [ D0 r bbb || 1| [Majer(1~(14))
S (—)~(A) 4 | 4 | 2 [05]05]05|05]05)05]|05]05 [ Minor(1)~(8)]
B A)~(+m) 33 | = 0505 |05] 05|05 05| [Minor(9)~(14)]
F Bl (— )~ 3] 03 | =& 05[05[05]|05]|05]|05
B E (- )~(x 6| 6 | & Lt | 1| 1| 1 [ 1 |[SecondMajor(1)~(8)]
S HE(—)(+2) (V20 I VA S U O T O O A O A O A O O O O BEE . BSELE
SHR(TE)(+m) 22 | & 1|1
AKEE(—)~(+2) L I V2 " 1 U I T U A U O T O OO O O A XL T TN
ARG E(FE)(+m) 2 2 | & 1 1
4 8 (— )~ () 4| 4| m LI T O T O I 107, 145 B 2 Shth 4 (R 8645 £ P 8E)
HAr R (E)~ () 2 |2 | =& Lo T (107, BB & 8547 84 (R SAT E P 42)
FEHE()(+m) L0 L I T e T A S T S T I B S PP A T S S P
z Bt A E(—)~(+m) 14 | 14 | & | 1 1 1 1 1 1 1 1 1 1 1 1 1 V| S EfHesEt(—)-(A)
i i # AT (—)~(=2) 4 [ 4| & 2] 2
i M5 BEH(— (D) 4| 4 | & 2 | 2
B & (—)(+m) 14 114 | & [ 1 1 1 1 1 1 1 1 1 1 1 1 1 |5 2 a5 (—)~(N\)
BHEE(—)-(+w) 14114 | & | 1 1 1 1 1 I 1 1 1 1 1 1 1 U [R8 2 EF 5 (—)-(N\)
FHREE(—)~(+mw) 14 (14 [ & [ 1 1 1 1 1 1 1 1 1 1 1 1 1 & xEHLE(—)~(N\)
b B (—)~(2) 4 | 4 | & 2| 2
AoB(—)~() 6 | 6 [® | 1| 1| 1f{1]1]1
EMEFLEE(—)(Fw)| 28 [ 28 | @ [ 2 | 2| 2|22 |2|2|2|2]2{2]2]72]:2
# IR (—)~(2) 41 4 | & 2] 2
H AR 212 | & 2 107, 14 2 A 1% 45
FEREE 1 I 0 1
FRIEH(—)-(2) 4 | 4 | E| 2] 2
8 2l (—)-(=2) 4 |4 & |22
R R (—)~(=) 4 | 4|8 212




B 45 e 4

RI2dhdmAE—EHFTRILL2L2EEREBLEIMER(D)
B—% | #=% | #=2% | #wmE | FEF | FxF | s
®a % = T olma 2
iy .4 o lyeg E|E|F|E|F| [Tl 2| FLE]FE]F| 2| T | #HEREIALLE)
aks # |2 || 2|2 |2 | F | 2| 22|22 |F|%|%
eI T I+ O O A - < I O I I -
St 8 (— )~ 1616 se| 222212 ]2]|2]:2 o 7 B B AR 3,
A RIE(—)~(=) 4 4 ol 2 2
o 2(—)~(=) 4 | 4 | » 2|2

1.107. 15 2 2 & 45 -

2 : 2. 101-104A2 2 Bk » B fs
= 4 | 4 28082

#o (= )~(m) 2 BEARBY  URECADHE
% BB F AR -
1107, 1452 2 s 45 -
9.101-103 A2 £ 4 + B4

pe i el e oAb RAE 0 R RS R,
F R -
i (BRI alt Bl 1. 2 |2 107, 145 2 2 = 44845
ff o R () 1] % ]38 2 |2
o (BRI R(DD) 4 |4 | = 2 | 2
B |#es(-)<(=) 4] 4 | & 2 | 2
g i 57 (—)(=) 41 4 | & 2| 2
R4 B 1R A R ()W) g8 | 8 | & 28| SE S 8 ) (T ﬁ%ﬂ%fﬂiiﬁmﬁww
B # XA H(—)~(=) 414 = 5 | 2
R T 4 ()~ =) 4|4 |a= -
82 3 75 (—)~(=) 4 | 4 | & 212
T 35 (—)(2) 4| 4| & 2 | 2
RSB ERgen=) [ 4 | 8 L& 2 | 2 102.11.26 3%
B 4 4 35 (—)(2) 4|4 | = 2 | 2




B 4R ¥ d4e

B2 dHEMRE—BHRTRTLEARTEREEZSHB R(2)
" | #—F FoF | BEF FwE | BEE | EXNFE | BEE
ol i el c|r{e]rle[r]elre]rle]r[e]7| avcmmzzzzm
# s | F | £ | F | £ | 2|2 || 2 | F |2 |82 |8 | %%
f7| f | # | 8 | 8 | B | W | & | 8 | B | & | 8|
TR B (—)~(2) 4 | 4 | & % | 2 107. 152 BB F BB
F R (—)~(=) 414 & 2| 2
Bk 42 (—)~(2) 4 4 | = 2 2 107. 14522 53515
943 5 2 | 2 | & [ 2
LEEL o 2 12 | & 2
FREB(—)~(=2) 414 | & 2 12
5 [FRABEC) 414 | & 2 | 2
£ g gomg(—)~(=) 4| 4| = 2 | 2
i FHEETE(C)I(D) 4 | 4 | & 2|2
ol PR 44| =& 2 | 2




ByrEahi X2 B4 FRITLL2ELEEE2LS#B £(m)
@ 5 -4 E S F=F o ¥EF BoaE ®tF
f;fi ; :2 o : ; g | E|F X T | FlE|FlE|F|l 2| F| L F (R EEZIRLEH)
# CARE AR AE-NE-NE-NE NN A E I E IR A
AR R R R R A A R R N RE
P H F #iE(—)~(=) 4 4 | | 2 2
4B R (— () 4| 4 | 2| 2
RIE B #(—)~(=) 4 4 | & 2| 2 107. 1452 B4 4 %45
FELE(—)(=) 4| 4 | & 2 {2 107. 145 i A i 5
+ B R HK(—)~(=) 44| = 2, | & 107. 145 2% B 1% 4%
BAEBR A #(—)(=) 4 4 | & 2 2
FAFBE £ (— )~ (=) 4 4 2 2
FERSBMH(—) (=) 4 4 | i 2 2
FPREREL(—)I() 41 4| 2 2
BB 8455 (—)~(2) 4 | 4| & 2] 2
BEEFELE(—)(=) 4 4 | 2 2
T EFESEEA(-)-(2) 4 4 | & 2 2 10742 5 £ 4738
ff ERRTBELR()=) [ 4 | 4 | & 2| 2
L‘; &HE R E(—)D) 4|4 | =& 3| 2 107, 145 2 A % 4%
B olsmasamn{=) | 4 | 4 | &= 212
S A (—)~(2) 4| 4|2 2|2 107, 115 2 2 @45
A ()~ =) 3| @ | 5 | 4 107. 145 2 25 5 @ 4 (R 6 i
¥ B B & 4 (—)~(=) 4 4| & 2| 2 107. 14520 5 & 45
gHEE(—IHD) 4 | 4 | & 2 [ 2
AREH#(—)=) 4 4 | & 2 2
& & 8 s30 b (—)~(=) 4 4 | & 2 2
T B(—)~(=2) 4 (4| & 2| 2
MAHEFHE(—)- (=) 4 4 | & 2l 2
B lm B (— (=) 4 4 | g 2 2
B ESE(—)(X 12| 12| & 2| 2] 22|22 |a%es  aEm:
Bl RS Mot Riga
# 4 45 3 (—)~(7%) 12 122 s lalalalala




RyedBMAL— B4 TR ETLL25 L2228 588 £2(R)
- = B—F H o =4 FmE EHE e ¥
2@ 1o 2 = | =
EE f;é > iii gl | Fle|F|le|Fle|Fle|F|e|Fle|F| sueezizzs
i " SR NEIE SN NN N N
R IR R R R R R R B R
B FE 2R L (—)(x) 2lia|lwlz]|2]|22]2]a2 107. 12 A 2%
F&TH(—I(=) 4 4 # 2 2 107, 1w F @815 A B F 3815
TR HHE(—)~(=) 4 4 i#E 2 2
BRSEH(—)(=) 4 4 % 2 2
B (— () 12 | 12| = 2 2 2 2 2 2
B HAE)IGR) 12 | 12 | & 2 2 2 2 2 2
Al il B A o 4 4 i 2 2
¥ | u BéEH(—)(=) iE
R |m e (—)x) 12|12 ] = 2l 212121212
# | %
B | FEHEH () 4 4 | & 2 2
i
| E s (—)(=2) 4 | 4 | & 2 | 2
PN
s |#RAKEI K= 4| 4 | = 2 | 2
B E(—)I(=) 4 4 | £ 2 )
FHEE(—)I(=) 4 4 | & 2 2
8 B3 (—)(%) 12 (12| = 2021221212
ERARZFLEAR(—)(=) | 4 4 | g 2 2
SR BN BBEE  ABRH WIIERE LSS B AN RIEADBIR
BB EER(—)-(2) 4 | 4 | & 2 | & 10742 4 £ #i 3%




